L ARRe)) SS FRONT BUMPER LOWER ACCENT
e A SKID PLATE
- oo 2020-2021 SLINGSHOT MODELS

2381 5HICKORY PASS SANANTONIGO, TX 78264

SALES@ZARATESTEELWORKS.COM INSTALLATION INSTRUCTIONS

WWW.ZARATESTEELWORKS.COM | PHONE: 888-552-9272

KIT INCLUDES

QTY- 1 Front Bumper Lower Accent Skid Plate

Stainless Steel Hardware:

QTY-4 1/4" x 3/4" Inch Bolts F19452

QTY-4 1/4" Locking nuts F12190

QTY-4 1/4" Washers F113873

QTY- 3 3/16" x 3/4 Inch Bolts F13972

QTY- 3 3/16" Locking nuts F114752

QTY- 6 3/16" Washers (Use on top and bottom for install) F117227

TOOLS NEEDED FOR
INSTALLATION

- Power Dirill
-1/4 Drill Bit
-1/4 Driver Bit
- 3/16 Drill Bit

- 3/16 Driver Bit
- Marker

For any questions during the installation you can
call or text 210.765.0974 or email us at sales@zarateteelworks.com

AWARNING: Ca!ncer and Reproductive Harm- REV1 JAN 2021
www.p65Warnings.ca.gov PAGE 1




To install, align the Front Lower Accent Skid Plate to the bike and mark all the holes for drilling

reference.
9 Next begin to drill the markings, the first set 9 Lastly, install the (4) 1/4 inch bolts
of holes to be drilled out are the (4) 1/4 inch towards the front of the bike. Then
holes towards the front of the bike. Then install the (3) 3/16 smaller bolts towards
drill the (3) 3/16 smaller holes towards the back by the factory air dam, for the 3/16
the back by the factory air dam. bolts use a bottom and top washer.

B

The installation is now complete!

-
THANK YOUFOR YOURPURCHASE! @' E
FOLLOWUSONFACEBOOK & INSTAGRAM
TOSEEOURLATEST PRODUCTS. E

TAGUSINWITHYOURFINISHEDINSTALLED

DISCLAIMER
ALL ZARATE STEEL WORKS PRODUCTS AREMADE FOR OFF ROAD USE ONLY PAGE 2



	Page 1
	Page 2

